v,{2}

Ratio Xe—Xe/Pb—Pb

0.1

0.05

1.5

_{j o Pb-Pb .
vd :
-I | . I 1L 1 b1 I 1. 1 61 I 1. 1 b1 I L1 bl I 1. 1 b1 I-
1 LI I rTrri I LI I LI I L L I L LI L I-

(c) B}

0 10 20 30 40 50 60

Centrality percentile

Ratio Xe—Xe/Pb—Pb

0.05

1.5

L (b) -

ALICE -
Xe-Xe |sy = 5.44 TeV |
Pb—Pb |5, = 5.02 TeV |
n| < 0.8

0.2< p; < 3.0 GeV/c

L L Ly
| IP—GIasma+MUSIC+UrQM5 _
D) xe-xea,=057, p-0

[ Xe-Xea, =057, B,=0.162
[ Xe-Xea, =0.57, B,=0.207

[ ] Xe-Xea,=0.492, B, = 0.207

0 10 20 30 40 50 60
Centrality percentile



